






طريقة الموقع الخطأ  إحذٍ ًسائم انتحهْم انعذدُ، انغزض منيا انحصٌل عهَ انجذر انحقْقِ نهمعادنت 

f(x)=0.[1] 

 

ىِ من أقذو انطزق انحسابْت، ًتشبو طزّقت انتنصْف مباشزة نكن معذل انتقارب فِ طزّقت انٌضع انخاطئ 

.أسزع من طزّقت انتنصْف  

https://ar.wikipedia.org/wiki/%D8%A7%D9%84%D8%AC%D8%B0%D8%B1_%D8%A7%D9%84%D8%AD%D9%82%D9%8A%D9%82%D9%8A
https://ar.wikipedia.org/wiki/%D8%A7%D9%84%D8%AA%D8%AD%D9%84%D9%8A%D9%84_%D8%A7%D9%84%D8%B9%D8%AF%D8%AF%D9%8A
https://ar.wikipedia.org/wiki/%D8%B7%D8%B1%D9%8A%D9%82%D8%A9_%D8%A7%D9%84%D8%AE%D8%B7%D8%A3_%D8%A7%D9%84%D9%88%D8%A7%D8%AD%D8%AF
https://ar.wikipedia.org/wiki/%D8%B7%D8%B1%D9%8A%D9%82%D8%A9_%D8%A7%D9%84%D8%AE%D8%B7%D8%A3_%D8%A7%D9%84%D9%88%D8%A7%D8%AD%D8%AF
https://ar.wikipedia.org/wiki/%D8%B7%D8%B1%D9%8A%D9%82%D8%A9_%D8%A7%D9%84%D8%AE%D8%B7%D8%A3_%D8%A7%D9%84%D9%88%D8%A7%D8%AD%D8%AF
https://ar.wikipedia.org/wiki/%D8%B7%D8%B1%D9%8A%D9%82%D8%A9_%D8%A7%D9%84%D8%AA%D9%86%D8%B5%D9%8A%D9%81


This method attempts to solve an equation of the form f(x)=0. (This is 

very common in most numerical analysis applications.) Any equation 

can be 

written in this form. 

The algorithm requires a function f(x) and two points a and b for which 

f(x) is positive for one of the values and negative for the other. We can 

write 

this condition as f(a)×f(b)<0. 

If the function f(x) is continuous on the interval [a,b] with f(a)×f(b)<0, 

the algorithm will eventually converge to a solution. 

The idea for the False position method is to connect the points (a,f(a)) 

and 

(b,f(b)) with a straight line. 

Since linear equations are the simplest equations to solve for find the 

regulafalsi 

point (C) which is the solution to the linear equation connecting the 

endpoints. 

Look at the sign of f(C): 

If sign (f(C)) = 0 then end algorithm 

else If sign(f(C)) = sign(f(a)) then set a = C 

else set b = C 







, انمعادنتاًجذ جذر  إنَباستخذاو طزّقت انٌضع انخاطئ بذقت تصم   0.0002   

فِ انفتزة          [2,3]   x3-2x-5= 0 

 

:انحم  

f(x)= x3-2x-5 

f(2)= 23-2(2)-5=-1<0 

f(3)= 33-2(3)-5=16>0 

 

C1= 
2(16)-3(-1) 

 16-(-1) 
=35/17=2.0588 

f(2.0588)=-0.3908 <0 

C1=a 



The root lies between [2.0588,3] 

C2= 
2.0588(16)-3(- 0.3908)  

16-(-0.3908 
= 2.0813 

ǀC2 –C1ǀ≤0.0002  

ǀ2.0813 –2.0588ǀ  ≤  0.0002  

ǀ0.0225ǀ ≤  0.0002  

f(C2)= (2.0813)3-2(2.0813)-5=-0.14680 

C2=a 



 ًبتكزار ىذه انعمهْت نحصم عهَ

c3=2.0862 , c4=2.0915 

c5 =2.0934 , c6=2.0941 , c7=2.0943 

خاناث صحْح ل ثلاث 2.094ًبانتانِ انجذر ىٌ 

.عشزّت   




